ITI Welder 1st Year Module 7 GTAW techniques

(1). Which is the welding process that maintains electric arc between non-
consumable tungsten electrode and the base metal? | WWW%@W
HgHET ¢TRe Sadels 3R 99 Hed & did faggd a1 &1 §14 36! 82

(A) SAW

(B) MMAW
(C) MIG
(D) TIG

Correct Answer : D

(2). What is the purpose of inert gas used in TIG welding? | TIG i H 3ifhg

T &1 SUANT fh Ie=a ¥ foran ST 82
(A) Contamination in the weld metal | GG ?ﬂﬁﬁ W%ﬁ“lﬁ

(B) To protect the molten metal from the atmospheric contamination |

JEgH ST TGyl ¥ fUae g8 UTd P & B+ & ol
(C) To stabilize the Arc | Gﬂéﬁ@ﬁﬁ%ﬁﬂ

(D) To get more spatters | ¥ e YT B b faw

Correct Answer : B

(3). What is the full form of GTAW? | GTAW &1 J0f 30 T g2
(A) Groove Tungsten Arc Welding

(B) Grip Tungsten Arc Welding

(C) Gas Tungsten Arc Welding

(D) Galvanised Tungsten Arc Welding



Correct Answer : C

(4). What is the non-consumable electrode of high melting point used in TIG
welding? | TIG AfeET H 3 TTAHI® BT A -HGATA FAGCIS DI g2

(A) Carbon electrode | q>|@Td 5@10@6

(B) Copper electrode | HIUR 5@10@6

N Y

(C) Tungsten electrode | dTRCH gaidciS

A

(D) Aluminium electrode | Q?{ﬁﬂﬁmséaéls

Correct Answer : C

(5). Which process can easily weld thin metal? | DI It ufehar AT A Ueet!
YT P AT B bl 62

(A) MIG welding | MIG afcET

(B) Tungsten arc welding | SIRE 3T afedT

(C) Submerged arc welding | s 3T aAfedT

(D) Manual metal arc welding | ﬁa&mﬁw 3T AfcET

Correct Answer : B

(6). What are the gases used in GTAW as shielding gas? | GTAW ﬁqﬁ?&mﬁﬂ%

=Y H IGIRT 1 S aTett 191 1 52

(A) Argon & Helium | G{Fﬁ(‘iﬁ?m

(B) Oxygen - Acetylene | mﬁq-m

(C) Carbon oxide & Helium | GARE 3HES GﬁTm

(D) Carbon dioxide & Argon | HTe SI$31Td~{-II$S 3R 3=



Correct Answer : A

(7). Which gas is issued as inert gas in GTAW for increased speed? | ﬁ@é‘ﬂ%%

fore gTAw ¥ 31feha 719 & =0 § T 719 o1 ST fowat STt 82
(A) Oxygen | 3fiador

(B) Helium | BifergH

(C) Acetylene | TRIfe

(D) Hydrogen | BTESIoH

Correct Answer : B

(8). Which gas is heavier than air? | I I 119 gaT ¥ HRI g2
(A) Argon | 3TH

(B) Helium | Biferad

(C) Oxygen | SfiGTo

(D) Carbon dioxide | P SRS

Correct Answer : A

(9). How molten metal is shielded from the atmospheric contamination as a
blanket in GTAW? | GTAW H &-he o U H digHS T Igyur I fUed g3 u1g
DI HY P ST ]2

(A) By usinginert gas | 3HfehT TR BT YT P

(B) By using fuel gas | ém%ww&ﬂﬂm

(C) By using supportable gas | W%WWW

(D) By using fuel and supportable gas | _SC?FT QTW%WWW




Correct Answer : A

(10). What type of power source are commonly used? | AR R fFPI UBR &
o1l A BT SYANT T SiTelT g2

(A) Constant current | RR &

(B) Constant voltage | fRR dicew

(C) Constant resistance | AR Uy
(D) Constant frequency | WTI?I'IT&HQ'%

Correct Answer : A

(11). What is the function of torch? | €Td T HTd T 82

(A) To hold the electrode | SOFRIS YRUT P & fog

(B) To hold gas heater | TR §lex T & fag

(C) To hold power supply | fasTelt @1 3TYfe @ & ferg

(D) To hold the filler rod | HRTd P BS I YRUT HIA P [e1T

Correct Answer : A

(12). Which metal is welded only for GTAW? | fg %ngﬁ%a GTAW %%‘I'Q
dce fpar o g2

(A) Thin | Gdell
(B) Round | T
(C) Larger | dgI
(D) Thicker | HTeT

Correct Answer : A



(13). What is the name of the part of TIG torch for holding tungsten electrode? |
¢TRC SAGCIS Bl UH S o (T4 TIG T o T BT =TH FT 62

(A) Collet | Blifelc

(B) Adaptor | UsSIZX

(C) Ceramic nozzle | RRF® Fiord
(D) Electrode cap | SAGCIS HU

Correct Answer : A

(14). What is the name of the torch shown in figure? | fad Iéalé ﬂ's‘%néw

(A) Air cooled | W‘%ﬂ
(B) Gas cooled | g det

(C) Oil cooled | da el
(D) Water cooled | tlFﬂB?:TE&H

Correct Answer : D



(15). What is the name of the part marked ‘X’ shown in figure? | ICEE:] IEEIQ i
x' 3ifepd YT T A1 1 52

7
F

(A) Plug | &I

(B) Switch | f&ad

(C) Collet | PIfcie

(D) Adaptor | SR

Correct Answer : C

(16). What is the purpose of H.F. unit in TIG welding? | TIG AETHH.F. EWI_SCW
I T g?
(A) To produce the AC | AC hT 3l B %ﬁ«m

(B) To change ACto DC | ACﬁDCﬁWﬁ%W
(C) To produce power supply | fooTett ot S{Hﬁw IATGH A %]QQ'I'Q

(D) To initiate the arc without touching the electrode on the base metal | RS

Ted IR SaIdeTe B §U [§HT 3MTdh I 3RH H o [o1g

Correct Answer : D




(17). Which gas is lighter than air? | 1= II 719 §aT T §eobl 87
(A) Argon | 3MTfH

(B) Helium | BifergH

(C) Hydrogen | BTZgIoH

(D) Carbon dioxide | P SRS

Correct Answer : B

(18). Which type of tungsten electrode is suitable for welding of SS by TIG process
with DC? | ETReH Faide 1€ fhd UhR & DC & 1Y TIG UfhaT §RT T 1

AT & foTe Iugad 82

(A) Pure tungsten electrode | X[ RIRTE s@io@s

(B) Cerium tungsten electrode | INgH e 'ic}ldg\ls

~\

(C) Thoriated tungsten electrode | YIN3ICS e saqu

A

)

~\

(D) Zirconium tungsten electrode | OR®IaH dReA ENCHS

Correct Answer : C

(19). What is the colour of argon cylinder? | &mﬁﬁﬁaww%mmév
(A) Red | <l

(B) Black | Tl

(C) Maroon | ﬁ?ﬁf

(D) Peacock blue | ARGE! T 37

Correct Answer : D



(20). What type of torch shown in figure? | A A I UER F1e™ Ié@lé 11‘5‘%?

(A) Air cooled | dTaTIHicId

(B) Water cooled | WFﬁB?:TE&H
(C) Oil cooled | dA BaT
(D) Gas cooled | g set

Correct Answer : A

(21). Which type of welding is done by a small hand weld gun with a non-

consumable electrode? | ﬁ@%%@%ﬂﬂmWﬁww
A 58 d%S 101 gRT DI il g2

(A) SMAW

(B) GMAW
(C) GTAW

(D) Induction welding | 3%@ g afeET

Correct Answer : C



(22). Which welding machine is to be used for welding of aluminium by TIG

welding process? | TIG WWWWﬁW%WW
AfeE T 7= &1 IugiT fpar ST 82

(A) AC welding machine | AC CIRSUE: UG
(B) DC welding machine | DC CIRSUE: UG
(C) AC & DC transformer | ACDC Q'N'Eb_lﬁ?

(D) DCtransformer | DCE:NTFITTT

Correct Answer : A

(23). What is the name of the part marked ‘X’ shown in figure? | ICEE:| fGQmq i
X' 3ifdrd UV T =TH FT 82

~\

~\

(A) Collet holder | PIcic BITaY
(B) Cap | cIdl

(C) Collet | PIfcIc

(D) Nozzle | Ao

Correct Answer : B




(24). What is the name of the defect marked as ‘x’? | X' & =0 H ffed a1
9 1 g2

(A) Porosity | qRIRTC
(B) Under cut | 38X HhC

(C) Slaginclusion | @m EiSNEE!
(D) Incomplete penetration | GT?BTa:ﬁa'Q'F[

Correct Answer : D

(25). Which electrode is used in TIG welding process? | TIG i ufshar | fg
ZAdCIS P ITANT foh T ST /7

(A) Zinc electrode | ED 5@10@6

Y Y

(B) Carbon electrode | P8 SATCIS

(C) Tungsten | E;‘RE:I
(D) Magnesium electrode | ﬁ?ﬂﬁmnsﬁazj—s'

Correct Answer : C



